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2.4 - 0.03 M CaSOu(F2ft47)4r0.01 M NaCI(# f* 4\ )l & A » a3 %A 5 0 2
(A) 0.01 M (B) 0.02 M (C)0.13 M (D) 0.24 M
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(A) 1 mg/L (B) 10 mg/L (C) 20 mg/L (D) 30 mg/L
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(A)i§ & (B)3&, 4 #mt (O 3= 4 (D)
7. % P e (CHsCOOH) 51pKa 5 4.74p% » 3 $:0.02 M7 fit 4 (CHsCOONL)i% i% 2. pH 3 7 2
(A) 4.81 (B) 5.46 (C) 8.52 (D) 9.48
8. T 7| ip & 2L I i MOk (PMas) e & kR ?
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12. % - 3 HAB % > A4k R 50.1M > HjRdgE £3.7% 3 HKa® 5 0 2
(A)1.4x1072 (B)1.4x10* (C)3.7x1073 (D)3.7x10*
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(A) 750 °C (B) 850 °C (C)950°C (D)lpsooc
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(A)HI=Hh-6(H+ W) (B) HI=Hh - 6(H + 9W)

(C) HI=Hh - 6(9H + W) (D)HI=Hh- (H+ W)
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0,

kcal/kg =81C + 342.5(H2—?) +22.58
(A) 2,106 kcal/kg (B) 2,666 kcal/kg (C) 5,331 kcal/kg (D) 6,664 kcal/kg
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(A) 2.46 % (B) 4.46 % (C) 8.46 % (D) 10.46 %
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(A)27.5 % (B) 79.6 % (C) 82.5 % (D) 91.7 %
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(A) G=(Wxh)/A (B) G=W/(hxA) (C) G=(WxA)/h (D) G=A/(hxW)
43. % BRSO EOR 2 C/N > fi30 55 7 2|47 5 3w 9
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(A)1071° (B)10° (C)107 (D) 10°!
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(A) 8.66 (B) 10.66 (C) 12.66 (D) 14.66
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VAR R I RERE G P
A) O—Q—B—>b—® B) O—>Q—->@—B—®
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3. 7 HERFF TR ERRNF f"*#ﬁi EaAf? 72378—% P RF2kmb Rl X174
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(A) 0.01 (B) 0.1 O 1.0 (D) 10
49. 71’{ it :‘ e ﬁ»fr % 4 é‘ik‘ﬁ’—!:\m_)ig"rﬂﬂ w9

(A) 100~200 °C (B) 250~350 °C (C) 400~600 °C (D) 800~1000 °C
50. F BRAE Y RZ2 PSR F(CE) s B3 B S5 W@ 7

(A) [CO/(CO,+CO)]*100 % (B) [CO,/(CO,+CO)]*x100 %

(C) [(CO,+C0O)/CO]x100 % (D) [(CO,+CO)/CO,]*100 %

LoRit 2 hjle 2. 6P F—asE % 47 %47



